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                                              GROUP – A                              01x10=10 
 

(MULTIPLE CHOICE/ OBJECTIVE TYPE QUESTION OF 01 MARKS EACH) 

1.  A flower consisting of both the androecium and gynoecium is called: 

(a) Incomplete (b) Complete  (c) Perfect (d) Monochlamydae 

iq"i esa nksuksa ujk.x o t;k.x mifLFkr gksus ij dgykrs gSaA 

(a) viw.kZ (b) lEiw.kZ (c) mRÑ”V (d) ,dvkof.kZ; 

1 

2.  Which part of the flower is the source of ‘saffron’/ kesar of zafran is obtaind? 

(a) Style  (b) Stigma (c) Petals (d) Pedicel 

dslj ;k tkQjku iq”i ds fdl lzksr ls ik;k tkrk gS\ 

(a) LVkbZy (b) LVhXek (c) ia[kqM+h (d) isfMfly 

1 

3.  A DNA molecule consisting of both strands radio labeled with 
15

N is allowed to 

replicate for there generation in normal nitrogen, how many of the daughter 

molecule will be radio active? 

(a) One (b) Two (c) Four (d) Eight 

,d Mhå,uå,å nksuksa /kkxs jsfM;ks /kfeZr 15
N ls fpfUgr dks ;fn bls rhu ih<+h ds 

fy, lkekU; ukbVªkstu esa Áfr#isu djus ij fdrus vuqtkr v.kqvksa esa jsfM;ks 

/kfeZrk ik;s tk;saxs\ 

(a) ,d (b) nks (c) pkj (d) vkB 

1 

4.  In human the inheritance of which of the following characters is both an 

example of co-dominance and multiple alleles? 

(a) Color blindness (b) Hemophilia (c) A, B and O blood Group  

(d) Cystic fibrosis   

euq";ksa esa fuEufyf[kr xq.kksa dk oa’kkuqØe esa nksuksa lg&ÁHkkohdj.k o cgqjxq.k#irk 

1 
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dk mnkgj.k gksrs gSa\ 

(a) dyj Cykb.M (b) gkseksfQfy;k (c) A, B o C jä lewg  

(d) LlVhd Qkbczksfll 

5.  The mole percentage of adenine in a double stranded DNA was 30 percent, 

what will the mole percentage of cytosine in the molecule? 

(a) 10          (b20               (c) 30           (d) 60 

,d nks /kkfx; Mhå,uå,å esa ,fM+fuy dk eksy Áfr’kr 30 Áfr’kr gS rks blesa 

lkbZVkslhu dk eksy Áfr’kr D;k gksxk\ 

¼v½ 10 ¼c½ 20 ¼l½ 30 ¼n½ 60 

1 

6.  The chief source of fuel in the biogas is: 

(a) Carbon monoxide (b) Methane (c) Butane (d) CNG(Compressed Natural Gas) 

tSo xSl esa bZa/ku dk eq[; lzksr gS\ 

¼v½ dkcZu eksuksvkWDlkbZM ¼c½ ehFksu ¼l½ C;wVsu ¼n½ lhå,uåthå ¼la?kfur ÁkÑfrd xSl½ 

1 

7.  Crop rotation can be supported by which group crop plantation? 

(a) Rice and wheat (b) Oil seed (c) Pulses  (d) Sugar cane 

Qly pØ esa fdl leqnk; ds ikS/ks ds jksiu ls lEié gksrk gS\ 

¼v½ pkoy o xsgw¡  ¼c½ rsygu  ¼l½ nygu  ¼n½ xék 

1 

8.  Mutation theory of Hugo de Vries was based on the plant: 

(a) Oenothera (b) Finches  (c) Althea rosea (d) Garden pea 

ikS/kk ftlij áwxks Mh osfjt us larfr ifjorZu dk fl)kar vk/kkfjr Fkk% 

¼v½ vks,ukFksjk  ¼c½ fQUp  ¼l½ vkYFks;k jsft;k  ¼n½ eVj 

1 

9.  Which of the following is not an air pollutant? 

(a) CO2   (b) CO   (c)  CFC (Chlorofluoro carbon)    (d) Aerosol 

fuEu esa ls fdls ok;q Ánq”d ugha gksrk% 

¼v½ dkcZu MkbZvkWDlkbZM ¼c½ dkcZu eksuksvkWDlkbZM ¼l½ lh,Qlh ¼Dyksjks ¶yksjks 

dkcZu½ ¼n½ ,sjkslksy ¼ok;q&/kqU/k½ 

1 

10.  The bacterium present in the food that causes food poisoning called botulism is: 

(a) Clostridium tetani  (b) Clostridium botulinum  

(c) Agrobacterium tumefaciens (d) Agrobacterium rhizogenes 

1 
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cSDVh;e uked fo"kkD r Hkkstu d s fy,  Hkkstu esa ik; s tku sokys dkjd 

thok.kq gksrk gSA 

¼v½ DyksLVªhfM;e VhVSuh ¼c½ DyksLVªhfM;e ckSVwfy;e ¼l½ ,xzkscSDVªh;e~ 

VwfeQSfl,U l ¼ n½ ,xzksuSDVªh;e jkbZtksthUl 

                                    GROUP – B                              02x03=06  

  (VERY SHORT ANSWER TYPE QUESTION CARRYING 2 MARKS EACH)  

11.  What are the products of the ovary and ovule after fertilization? 

fu"kspu ds mijkUr fMEck’k; rFkk chtk.M D;k cukrk gS\  

1+1 

12.  The result of fertilization is (a) __________________ and double fertilization is  

(b) __________. 

fu"kspu ls ¼v½&&&&&&& rFkk fMfu”kspu ls ¼c½&&&&&&&&&&&&&cukrk gS\ 

1+1 

13.  Expand SCP ___________ the source is ______________________. 

,llhih dk foLr`r &&&&&&&&&&& budk lzksr gS &&&&&&&&&&&&&& 

1+1 

                                    GROUP – C                              03x03=09  

  (SHORT ANSWER TYPE QUESTION CARRYING 2 MARKS EACH)  

14.  What is the number of sets of chromosomes and name the three types of 

endosperms. 

Hkzw.kiks”k esa xq.klq= lewg fdruk gksrk gS] rFkk rhuksa Ádkj ds Hkzw.kiks”kksa dk uke 

fy[ksaA 

1½+1½ 

15.  Match the figure 1, 2 and 3 with a, b and c: 

1. Aril                                     (a) Wheat 

2. Thalamus                            (b) Litchi 

3. Bifid feathery stigma           (c) Pome 

la[;k 1] 2 o 3 dks v] c ,oa l ls tksM+k yxk;sa 

1- ,fjy                         ¼v½ xsgw¡ 

2- iq"iFky                        ¼c½ yhph 

3- f} [kf.Mr ia[k#ik L=hdslj      ¼l½ ikSe 

1+1+1 

16.  Which is the source of the wheat variety ‘Sarbati Sonora’? Who  developed this 

varity? 

ljcfr lksuksjk xsgw¡ dks fdl fdLe ls iSnk fd;k x;k\ bls fdlus fodflr fd;kA 

1½+1½ 
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                                    GROUP – D                              05x02=10  

  (SHORT ANSWER TYPE QUESTION CARRYING 2 MARKS EACH)  

17.  Differentiate between male gametophyte and female gametophyte. 

esy xsfeVksQkbZV o fQesy xsfeVksQkbZV esa foHksnu djsaA 

(OR) vFkokvFkokvFkokvFkok    

5 

  Differentiate between self pollination and cross pollination. Mention two 

contrivances of each 

Loijkx.k o ijijkx.k esa foHksnu djsaA ÁR;sd ds nks leqfpr mik;ksa dk mYys[k 

djsA 

 

18  Match the fruits in figure 1, 2, 3, 4 and 5 with the edible parts in options a, b, c, 

d and e: 

Fruits Edible Part 

1. Cashew nut a. Mesocarp 

2. Coconut b. Aril 

3. Ground nut c. Endosperm 

4. Litchi d. Cotyledons 

5. Mango e. Seed 
 

5 

  la[;k 1] 2] 3] 4 ,oa 5 esa Qyksa dks mlds [kkus ;ksX; Hkkx v] c] l] n ,oa bZ ls 

tksM+k yxk;sa 

QyQyQyQy    [kkus ;ksX; Hkkx[kkus ;ksX; Hkkx[kkus ;ksX; Hkkx[kkus ;ksX; Hkkx    

1. dktw v felksdkiZ 

2. ukfj;y c ,fjy 

3. eq¡xQyh l Hkw.kiks”k 

4. yhph n chti= 

5. vke bZ cht 
 

 

 

 

  END 


